W]t Compa

AATRELERFEENERADRMREELEERFHINGAT - 1 IEnmene
TR RSN AR ERESEZEAMIBH LEB _+ERF KR  FHERBEL

R E S — MBI ALAEHRRFENNERT » HEEWNAAMEE S TS -

AR UEFREREHESmEBREEL - HEmaNE BEREEZFIT LI ES
o BMEIESIIERREAE - BREDEEmE » LIEHEFPESUXRME - ERERR
BLUREZTHEE » BEEFEEEBMBHRS ONEmM - WEABBIBRNNSRBERIEHE
mmERFENRARER -

We have a profession technical and manufacturing team formed originally from
Ruey Chaang Electric Co.,Ltd. (CRELEC) and has been selling wDARGANG brand word-
wide. The company has more than twenty years of high-pressure blower field experience with
spirit of providing quick service and technical based high quality products for our most valuable
customers and potential business partners. Your interests and enquires are always welcome.

A brand new set of modules have been invented to upgrade quality of our high-pressure
blowers leading the new series of blowers are both in appearance, air pressure and volume
more desirable than the old series. Rigorous tests and inspections have conducted for each
blower ship out of the factory for firm 100% high quality products deliver to customers. The
purpose is to make sure customers receive most efficient, higher quality service and muti-choice
of products that will support local and global machinery manufacturers to upgrade their product

quality and minimize cost.

1

Side Channel Blower



N {3)&f B External bearing
BIEVR 5 Cool-running
JEiESanKLong life

%! Shaft Seal
FRARRENHIRESE
1% 5 B R M AN RE P A o
Motor protected by
maintenance-free shaft seal

ZRES
OB LI EER - (AEEZERAERMBES
MAERLZERINFREERSD

Easy to install

The blower is a complete unit ready for
immediate installation either as a vacuum pump
or as a compressor. The unit can be mounted in
any position, horizontally or vertically.

B EE - %NS
SEMESBENRDFRE  SREaERER
SR - BEMA - BRTAERIN » ERIE
Hitnght » RItIEITSEFEME -

Rugged

The cast for the impeller and the motor are
individual to be made by aluminum. The blower
has the highly-developed design which results
in a pump construction with one moving part, a
feature ensuring maximum operating reliability.
Maintenance free!

Hi53

B ENeBhs » NEEMEi D EHEE - ZBE
HEORREISS -

No oily odors

The impeller rotates with absolutely no contact
between it and the housing. This means no

lubrication is required, guaranteeing 100% oil-
free operation.

ERSMERNESETERE
High-efficiency die-cast
impellers for all types

QEDARGANG

er Construction

BS5E Motor C€ s

T 3<F350/60Hz » FREEIVBEZBFRAHLR - IP55
Industrial quality 50/60Hz

Squired-cage motor totally enclosed(IP55 )

with F class and H class insulation

B =28 Silencer
ATV EEEBuilt-in silencer

RENEEEE

Shock-absorbing mounting plate

Blower Specific
RIS {EEE

—ERNHERE  FRESSEEREE  AE
BB TR EESEBOMMIL - G
R IESEEIS(E -

Low Noise and Vibration

The use of direct-driving low-noise motors and
integral silencers ensure a low noise level.
Dynamic balancing minimizes vibration.

=

Hx=00

ERHMERS  SREEER  S—AREKRE
HRBIIIFSBERARAIE -

High Efficiency

Under serious QC control, the parts used in DG

blower are of top quality. All blowers are made by
professional technicians.

http://dargang.myweb.hinet.net

2



Channel Blc

<3 i

Dou

\H

\ 4

SN
AR

¥itH 5% / Single Phase AC

: B8 | REEC® AL
HRR RS o ‘ I8 Vacuum /
Curve No. Frequency | Output Voltage Current L e
(V) (A)
D1 50 0.18 |100-120/200-240  2.50/1.25 50/40 1.0 52
DG-100-11 6.5
G1 60 0.2 110-120/220-240 2.60/1.30 70/70 1.2 55
D2 50 0.4 100-120/200-240 5.40/2.70 110/130 1.5 58
DG-200-11 11.5
G2 60 0.5 110-120/220-240 7.80/3.90 130/150 1.8 61
D3 50 04 100-120/200-240 5.80/2.90 110/130 1.5 58
DG-200-11W 12
G3 60 0.5 110-120/220-240 7.80/3.90 130/150 1.8 61
D4 50 0.75 | 100-120/200-240 11.6/5.80 140/150 2.6 63
DG-300-11 16
G4 60 0.85 | 110-120/220-240 13.0/6.50 140/140 3.1 64
D5 50 0.75 | 100-120/200-240 11.6/5.80 140/150 2.5 63
DG-300-11W 16.5
G5 60 0.85 | 110-120/220-240 13.0/6.50 140/140 3.1 64
D6 50 1.1 100-120/200-240 14.0/7.00 160/190 2.6 63
DG-300-31 16.5
G6 60 1.3 110-120/220-240 16.0/8.00 180/190 3.1 64
D7 50 1.1 100-120/200-240 15.8/7.70 150/150 3.7 70
DG-400-21 23.5
G7 60 1.3 110-120/220-240 19.2/9.60 150/140 4.4 73
D8 50 1.5 100-120/200-240 = 20.0/10.0 180/190 3.7 70
DG-400-31 26
G8 60 1.75 1 110-120/220-240 22.8/11.4 180/170 4.4 73
D9 50 1.5 100-120/200-240  20.0/10.0 180/190 3.7 70
DG-400-31W 26.5
G9 60 1.75 1 110-120/220-240 22.8/11.4 180/170 4.4 73
D10 50 0.75 | 100-120/200-240 9.20/4.50 180/220 1.6 60
DG-230-11 17.5
G10 60 0.85 | 110-120/220-240 11.0/5.40 200/220 1.8 66
D11 50 1.5 [100-120/200-240  20.0/10.0 240/250 2.6 66
DG-330-11 28.5
G11 60 1.75 1 110-120/220-240 22.8/11.4 250/260 3.1 69
bI5E, Remark :
1. BPRENHEE  WBFRMUERRE °
Information above is for reference, product only when different. ’:‘“

2. FPRBFETEE ZHEFR - BASITER ©
We reserve the right to change the design without notice.

3. WHEHIRREF KRN A AT ©
Should you require any further information or assistance, please do not hesitate
to contact us or distributors.

RUgE=RRR SENS 50Hz 60Hz
Description of model Voltages Code
DG- XXX-XX 0: 1~ 100-120V 110-120V
5L % / Series number 1: 1~ 100-120/200-240V  110-120/220-240V
2: 1~ 185-220V 200-240V
3: 1~ 200-220V 220-240V
DG-xxx-Xx
e 4: 3~ 200-240VA 200-240V A DG00I R EEE
C | R EEAN
ARSRIDRRNIE | 5. 5. 185.005A/320-300Y 200-2404 /345415 Waterproof
The sort of output in each series B (KEE
6: 3~ 200-240A/345-415Y 220-275A/380-480Y -
Low Pressure
7: BREE L =
DIERETERs 8: 3~  345415A/600-720Y 380-480A/660-830Y - Ig[ﬂ“”a' EEeRlloE
fLE&RER / Voltage Code 9: 3~ 400-460A/690-790Y 415-500A/720-860Y Terminal box on the right

3

Side Channel Blower




ZEDARGANG

ase Curve

mmmmm SOHZ =23/ Single Stage e S0H7z 87 Two Stage

e O0Hz 28/ TvoStuge WK/Vacuum e O0Hz 62/ Two Stage
6
4
3
1
ol - = - —
————————————— _G(\._GO____7£“« Y = — | 15
I e — 1 A&/ Volume
DS DO 08 (m'/min)
D % DLL\D(J / / 0.6
GI0 Do v
‘j“h(/// G2.G3 (ﬁ/ DT(
/ 0.2
D2.D3
llllllllllllllllllllllll0‘1

300 250 200 150 100 50 0

#RE/ Static Pressure(mbar)

memmm 50Hz %82/ Single Stage memmm S0H7z  #8) Tvo Stage

— 60HZ BEY / Single Stage uj:/COInpl‘@SSOl‘ | 6OHZ 2L / Two Stage
6
4
3

\”—»//
\\ G7 8o
2 ,U38.0U
\

T R

§<_ =
[/ Volume 1 [~ -
_ ¢
(m'/min) 08
0.6 Y b o+
\ . G10
0.4 A\ N
. )61 \ ~
>(/'H \ \/D,w
0.2 $2.G3
D2.D3
0.1 I I | I I | I | I I | I | I |
0 50 100 150 200 250 300

## R/ Static Pressure(mbar)

http://dargang.myweb.hinet.net

4



Voltage

Current Vacuum /

Compressor

Airflow
(m*min) IR e

DG-100-16 | D12 50 0.18 200-240A/345-415Y 1.10A/0.64Y 50/60 1 52 6.5
DG-200-16 | D13 50 0.4 200-240A/345-415Y|2.20 A/1.30Y 110/130 1.5 58 | 10.5
DG-200-16W D14 50 0.4 200-240A/345-415Y 2.20A/1.30Y 100/130 1.5 58 11
DG-300-16 | D15 50 0.75 200-240A/345-415Y3.70 A/2.14Y 140/140 2.6 63 14
DG-300-26 D16 50 0.9 200-240A/345-415Y 4.20A/2.40Y 165/180 2.6 63 15
DG-300-16B D17 50 0.75 200-240A/345-415Y 3.70A/2.14Y 110/120 2.6 63 14
DG-300-16W D18 50 0.75 200-240A/345-415Y 3.70A/2.14Y 140/140 2.6 63 | 145
DG-300-36 | D19 50 1.3 200-240A/345-415Y 4.60A/2.65Y 175/200 2.6 63 16
DG-400-16 | D20 50 0.9 200-240A/345-415Y 4.20A/2.40Y 130/120 3.7 70 | 20.5
DG-400-26 = D21 50 1.3 200-240A/345-415Y 5.70 A/3.30Y 180/180 3.7 70 22
DG-400-36 | D22 50 1.75 |200-240 A/345-415Y 6.70 A/3.90Y 210/220 3.7 70 23
DG-400-36B D23 50 1.75 200-240A/345-415Y 6.70A/3.90Y 140/160 3.7 70 23
DG-400-36W D24 50 1.75 |200-240 A/345-415Y 6.70 A/3.90Y 210/220 3.7 70 | 235
DG-400-46 | D25 50 2.2 200-240A/345-415Y 7.80A/4.50Y 220/270 3.7 70 26
DG-600-16 | D26 50 2.2 |200-240A/345-415Y9.70 A/5.60Y 220/210 5.5 72 32
DG-600-16B A D27 50 2.2 200-240A/345-415Y 9.70A/5.60Y 160/200 5.5 72 32
DG-600-16W D28 50 2.2 |200-240A/345-415Y9.70 A/5.60Y 220/210 5.5 72 | 325
DG-600-26 | D29 50 3.4 200-240A/345-415Y 12.5A/7.20Y 255/270 5.5 72 34
DG-600-26W D30 50 3.4 200-240A/345-415Y12.5A[7.20Y 255/270 5.5 72 | 35.5
DG-600-36 | D31 50 4 200-240A/345-415Y 14.3A/8.20Y 270/320 5.5 72 37
DG-800-16 | D32 50 5.5 200-240A/345-415Y|25.3A/14.6Y 270/290 9.5 74 77
DG-800-26 | D33 50 7.5 200-240A/345-415Y 31.5A/18.2Y 295/390 9.5 74 88
DG-900-16 | D34 50 9 200-240A/345-415Y|36.0A/20.8Y 200/190 18.9 76 100
DG-900-26 | D35 50 13 200-240A/345-415Y 46.8 A/27.0Y 290/270 18.9 76 112
DG-900-36 | D36 50 20 |200-240A/345-415Y 66.7 A/38.6Y 350/440 18.9 76 159
DG-230-16 | D37 50 0.75 200-240A/345-415Y 3.45A/2.00Y 200/240 1.6 60 17
DG-330-16 | D38 50 1.75 |200-240 A/345-415Y 6.70 A/3.90Y 275/300 2.6 66 25
DG-330-26 | D39 50 2.2 200-240A/345-415Y 7.80A/4.50Y 320/390 2.6 66 28
DG-430-16 | D40 50 3.4 200-240A/345-415Y12.5A[7.20Y 345/410 3.7 74 40
DG-430-26 | D41 50 4 200-240A/345-415Y 14.3A/8.20Y 355/460 3.7 74 43
DG-630-26 | D42 50 4 200-240A/345-415Y 14.3A/8.20Y 350/350 55 75 55
DG-630-36 | D43 50 5.5 200-240A/345-415Y 21.6A/12.5Y  410/500 5.5 75 72
DG-630-46 | D44 50 7.5 200-240A/345-415Y|31.5A/18.2Y 420/580 5.5 75 82
DG-640-36 | D45 50 5.5 200-240A/345-415Y 21.6 A/12.5Y 200/220 7.9 75 72
DG-640-46 | D46 50 7.5 200-240A/345-415Y|31.5A/18.2Y 240/275 7.9 75 82
DG-830-16 | D47 50 7.5 200-240A/345-415Y 31.5A/18.2Y 350/350 9.5 76 112
DG-830-26 | D48 50 13 200-240 A/345-415Y 46.8 A/27.0Y  430/600 9.5 76 142
DG-830-36 | D49 50 20 200-240A/345-415Y 66.7 A/38.6Y |  450/700 9.6 76 160
DG-840-16 | D50 50 7.5 200-240A/345-415Y|31.5A/18.2Y 180/145 14.2 76 110
DG-840-26 | D51 50 13 200-240A/345-415Y 46.8 A/27.0Y 250/250 14.2 76 140
DG-840-36 | D52 50 20 |200-240A/345-415Y 66.7 A/38.6Y 300/300 14.2 76 | 160

BI5F / Remark :

1. BERHEE - WEAEMERRE -

Information above is for reference, product only when different.

2. FPTRBRETEB R

RBARBITEA ©

We reserve the right to change the design without notice.
3. WHEHAREF G EHEEmNARNT o

Should you require any further information or assistance, please do not hesitate to contact us or distributors.

5

Side Channel Blower




ZEDARGANG

— FE% / Single Stage
— HEY / Two Stage 50Hz(" / Vacuum)
25
20
P—
b | __— | 10
D, —
DSl e —— |
D35\ | 6
D47 ——
D48 “D52 7/— 4
D36X 1 —
D49 /W |/M‘é T 2
.23/{1),42 oD - T
D44 // D26.28X / |
= <7 DX
DAL A D020.30¥ 1 DA Dy / 0.8
' D40 / D151~ / :
/ yd / 06
DI — D[ DI 7/ 7 :
D33 W /7 DIT / 0.4
D5 |/ ~p19 D14 < :
D391 X DI3S D7 0.2
D37 :
TN U T A T T T T T T T N O A O A 0.1
500 400 300 200 100 0
i B (mbar)
— BIEY/ Single Stage
— EEEY/ Two Stage S0Hz(H: / Compressor)
25
20 ———
_\\/ 34
10 A e
8 D7
— \\ |
6 1 D47\§,‘D36
N e 7
4 — | DI~ ) D43
———— D ) D43 o~
= ) Vb33 D4d
(m3/min) AN m}‘zl R~ o
NN R NN N~
\ N\ \ D3 ~—
0.8 \ AN D27,V D22.24 D41’
: ANEEAN DISIDD23 AN 3N
0.6 \ \ \ ~-
: N TE SN X N
04 \ N\] DI7 DIOJN\, pY D39
. \ D19 AN D75
02 \ \ N
‘ PI2 TN piags D37
01 P b e b b v fernr beee frree bernr b b v b fraaa e
0 100 200 300 400 500 600 700 800

i B (mbar)

ase Curve

J&, &
(m3/min)

http://dargang.myweb.hinet.net

6



=FHH53% / Three Phase 2

AR - S wE
y=om £5.5 mEZBE B Static pressure
Curve Frequency|Output Voltage Current Vacuum / Airflow
No. (V) (A) Compressor (m3/min) (dB)A (Kg)
(mbar)

DG-100-16 | G12 60 0.2 220-275A/380-480Y | 1.0A/0.64Y 70/70 1.2 55 6.5
DG-200-16 | G13 60 0.5 220-275A/380-480Y 2.30A/1.30Y 140/160 1.8 61 11
DG-200-16W G14 60 0.5 220-275A/380-480Y 2.30A/1.30Y 140/150 1.8 61 11.5
DG-300-16 @ G15 60 0.85 220-275A/380-480Y 3.90A/2.25Y 140/140 3.1 64 14
DG-300-26 @ G16 60 1.1 1220-275A/380-480Y 4.50A/2.60Y 180/180 3.1 64 15
DG-300-16B = G17 60 0.85 220-275A/380-480Y 3.60A/2.10Y 140/140 3.1 64 14
DG-300-16W G18 60 0.85 220-275A/380-480Y 3.90A/2.25Y 140/140 3.1 64 145
DG-300-36 @ G19 60 1.5 1220-275A/380-480Y 5.25A/3.00Y 205/230 3.1 64 16
DG-400-16 | G20 60 1.1 1220-275A/380-480Y 4.50A/2.60Y 120/110 4.4 73 | 20.5
DG-400-26 | G21 60 1.5 1220-275A/380-480Y 6.00A/3.50Y 170/160 4.4 73 22
DG-400-36 @ G22 60 1.9 1220-275A/380-480Y 7.00A/4.00Y 200/200 4.4 73 23
DG-400-36B  G23 60 1.9 1220-275A/380-480Y 7.00A/4.00Y 160/180 4.4 73 23
DG-400-36W  G24 60 1.9 1220-275A/380-480Y 7.00A/4.00Y 200/200 4.4 73 | 235
DG-400-46 @ G25 60 2.6 220-275A/380-480Y 9.50A/5.50Y 255/290 4.4 73 26
DG-600-16 = G26 60 2.6 220-275A/380-480Y 10.7 A/6.20Y 220/200 6.5 77 32
DG-600-16B = G27 60 2.6 220-275A/380-480Y 10.7 A/6.20Y 195/200 6.5 77 32
DG-600-16W G28 60 2.6 220-275A/380-480Y 10.7 A/6.20Y 220/200 6.5 77 | 325
DG-600-26 = G29 60 3.7 220-275A/380-480Y 13.5A/7.80Y 280/270 6.5 77 34
DG-600-26W  G30 60 3.7 220-275A/380-480Y 13.5A/7.80Y 280/270 6.5 77 | 355
DG-600-36 | G31 60 4.6 220-275A/380-480Y 16.2A/9.30Y 315/320 6.5 77 37
DG-800-16 | G32 60 6.3 220-275A/380-480Y 29.5A/17.0Y 290/270 11.3 79 77
DG-800-26 = G33 60 8.6 220-275A/380-480Y 37.0A/21.3Y 350/395 11.3 79 88
DG-900-16 | G34 60 11 220-275A/380-480Y 37.0A/21.4Y 180/170 22.4 81 100
DG-900-26 @ G35 60 15 220-275A/380-480Y 51.5A/29.8Y 280/270 22.4 81 112
DG-900-36 = G36 60 22 220-275A/380-480Y 76.0 A/44.0Y 365/420 22.4 81 159
DG-230-16 | G37 60 0.85 220-275A/380-480Y 3.60A/2.08Y 245/245 1.8 67 17
DG-330-16 | G38 60 1.9 220-275A/380-480Y 7.00A/4.00Y 300/300 3.1 69 25
DG-330-26 = G39 60 2.6 220-275A/380-480Y 9.50A/5.50Y 350/420 3.1 69 28
DG-430-16 | G40 60 3.7 220-275A/380-480Y 13.5A/7.80Y 370/350 4.4 77 40
DG-430-26 | G41 60 4.6 220-275A/380-480Y 16.2A/9.30Y 410/475 4.4 77 43
DG-630-26 @ G42 60 46 220-275A/380-480Y 16.2A/9.30Y 350/350 6.5 79 55
DG-630-36 | G43 60 6.3 220-275A/380-480Y 26.5A/15.3Y 420/500 6.5 79 72
DG-630-46 @ G44 60 8.6 220-275A/380-480Y 37.0A/21.3Y 450/675 6.5 79 82
DG-640-36 = G45 60 6.3 220-275A/380-480Y 26.5A/15.3Y 180/170 9.5 79 72
DG-640-46 @ G46 60 8.6 220-275A/380-480Y 37.0A/21.3Y 260/260 9.5 79 82
DG-830-16 | G47 60 8.6 220-275A/380-480Y 37.0A/21.3Y 290/290 11.3 81 112
DG-830-26 = G438 60 15 220-275A/380-480Y 52.0 A/30.0Y 450/600 11.3 81 142
DG-830-36 = G49 60 22 220-275A/380-480Y 76.0 A/44.0Y 470/780 11.3 81 160
DG-840-16 | G50 60 8.6 220-275A/380-480Y 37.0A/21.3Y 110/110 16.5 81 110
DG-840-26 | G51 60 15 220-275A/380-480Y 52.0 A/30.0Y 230/200 16.5 81 140
DG-840-36 @ G52 60 22 220-275A/380-480Y 76.0 A/44.0Y 300/280 16.5 81 160

BiIEE / Remark @ 1. ESMERMASE » WBARMERR/E ©
Information above is for reference, product only when different.

2. KPR BERFHEE 2ER - A RITIEA ©

We reserve the right to change the design without notice.

3. WHEHAREF G EHEmNARAT ©

Should you require any further information or assistance, please do not hesitate to contact us or distributors.

7

Side Channel Blower




[=1=]

BAEY / Single Stage

ZEDARGANG

— #FY/ Two Stage 60Hz(%z / Vacuum)
—
Laa— G50,
[G3sv— G5l
/ T
ELV) et — e ———
To——"_ |07/ Gi5—"_ 1
(}4& /, //I
G42 GP2Y —
GA9 G43, G16 " - ————
S G?BV L 126.28 o2 7\/ 4
o Azo_w/ /n'ﬁ:/ ' __—
% T
ol \1% ) / GISIS [—
v G | =~ / =7 /
(3% / G16 - / /
- / / / /
G399\ / GIT /
A G25— GIo¥ /
/ /
/ /
G37 \/ GI3.14 % //
GI2™
lllllllllllllllllllllllllllllllllllllllllllll
500 400 300 200 100 0
R (mbar)
— BHEY/ Single Stage
— EY / Two Stage 60Hz(H- / Compressor)
25
20
A G50 793 — G35
ol G2 G36
10 — e I | \I -
8 \ _ \‘
T~ G45 G47
———— T~ 63
6 —~— I Gas !
_ (2628 7/ [ G43
& 4 2\:\\ o Ton —— . GI9
(mihin) 2SSy Ty s
1 G ESS 39, G317 G40
\\ N y Gul
: \ Q\Gw % st\\/ G39
\ N\ N\ /
0.8 N ~I%
0.6 N AN AN
‘ \\ \\, \//(‘37
04 \)’ G4 \{ - —
0.2 G2
Ol lllllllllllllllllllllllllll lllllllllllllllllllllllllll lllllllll lllllllll
0 100 200 300 400 500 600 700 800

i B (mbar)

25

A~ O o0 O

[\

0.8
0.6
0.4
0.2

0.1

ase Curve

J# =
(m3/min)

http://dargang.myweb.hinet.net

8



e Channel
<i

DG-200%5!
only DG-200 **W
xan
!
-
J -
] i
c B
1] —— e
B s

only DG-300 **W

9

Side Channel Blower




ZEDARGANG
)% (Dimensions)

DG-6005R3

only DG-600 **W
125 2 § fi22 ‘)4[%&
| o] | ol
!
4’{;\<‘ﬁj’#

only DG-800 **W

2 4 7
126142, 267 - 475

J

. ‘ 126 142, 307
. 5 Q
[ | 25 5+
= T = i / 12 N
| o
| z o] —
‘ Q]

1
A
W ‘
|
|
|
|
{ B
N
\Wog
| BT
| =
|
|
|
5 ]
120~

:
-
\
;@J

2
R 155 280 2
= 3 - 155 || 280 I 20
3 455 o | i
i B [ 318 ‘
3 4
i
620

EEIN=:
col=] |
. — m—— i
F =

.
= L@'

116} | 600
T
210 630

http://dargang.myweb.hinet.net | 10



N

sisle Channel Blo
“id

389
384 5

~—133——

M20*1. 5P
[

‘.:H

=\\
- ol Tol — @@@ | | ’T
l (I =
& l —"_E D
é I L L =
- Li,
& ‘ 95 ‘ 152
50 130 ‘ 134
‘ 318
376 450
| 423
‘ 120 42,
M25%1. 5P|
”/& [ ] =l
e O
I ——— 1
nil N Oﬁ_
i F——IT7 = j]/
4 =17
| ‘ ‘ 51
‘ 115 ‘ 172
102 ‘ 155 ‘ 152
409
DG-630R5l
( )For DG-630-2*
426 562(465)
155 333(235) 9

—M25%1 |SP

I

QR

420
185(160)
0,
3

i l) L R
- R ) E— - S % \
S8R, /_\*i % \ \‘/ ‘
5o ‘ il in 5 ; ) S
S ey ~ t [ Co) = N\ 7N
1A & ) 15: o O /9070 B
125(62.5) ; 81|
\ 173(83) 0|1 200
290 180 180
330 540(450)

11 | Side Channel Blower




ZEDARGANG

5] Z¢(Dimensions)

DG-640%5

424 562
333 9
126 42
—M25%1.5P
. ) I =
oo 8418 — |
4 L = \\/
2.
o ®
= == 's?’
B 5( 1 — 120
= = , ,
N 27 ‘ ‘
140 ‘ 200
180 180 180
540

DG-830%%I
( )For DG-830-1*

615
372
3e2 725(545)
243 255 310¢126> 55(42> 360(377>
weexLsP ko j —F T
@ ———— 8
s ¥
& P
= 8
Blo| |- - = = - %41 3
o E— i
O, = = [of
| i -
N— Lt
0 s [y 392 —
@ ] N 0 - l — [
7 9llb 216 & e R = ﬂl
“ | | f
“t (W11 TH 93
& 33 265(155) 280 130
149(77.5) 279(169) 318
365 708(598)
425
e
DG-84052%!
*
( )For DG-840-1
725(545)
486 310¢126> S5¢42> 360(377>
; \  — —
M32*LS[ by I r
~ \ 4%' ~
g ——————— "8 %u
K —
& &

1 I § | ?408 ‘
el T = - D e —— =~ 7| 11 = I |
n|n

ogoo
—
o
L 52 SN
OGOV
5 ol B16_ L ]| -
él | o I =4 -
- i I 1] — [ S 120°
33 265(155) 280 130
298(77.5) 279169 318
365 708(598)
425

http://dargang.myweb.hinet.net



-

L~
“ide

2\ (V-belt Blower)

EEE¥1\ (Single Stage)

-
c3

-
T
t
T
120

c A I B P I

| Ra——

| E | | 1 F
MODEL| A | B | C D E|F|H| I |K|L|M|[NJO] P Q
DG-2000 248 245 90 205 230 226 128 - | 83 108 71 72 40 PF114" 64
DG-300-0 285 302 115 225 255 240 154 - 95 130 67 78 45 | PF11/2" 68
DG-400-0 333 338 120 260 206 208 172 27 115 155 96 | 8 48  PF2' | 83
DG-600-0 = 381 415 125 290 330 333 205 27 140 | 180 83 110 55 PF 2" 83
DG-800-0 460 550 155 365 425 455 275 33 280 318 155 20 | 91 PF21/2 6128

DG-900-0 | 557 | 630 @ 210 360 412 672 | 305 | 38 600 | 630 - 95 95 PF 4" 150

[ MODEL' R | S | §V| V-HOLE | Y*Z] a | b | c  d e | f ] gl h | i | /k_
DG-200-0 1 $10 | 25 | $140 0°/120°/240° | M6*15 117 53 50 3 24 40 8 20 M8*20
DG-300-0 = $12 3 $174 0°/120°/240° | M6*15 | 113 53 50 3 24 40 8 20 M8*20
DG-400-0 | $ 14 4 $200| 0°/120°/240° | M8*15 | 162.5 63 60 3 28 40 8 24 M8*20
DG-600-0 | $15 | 4.5 | $240 0°/120°/240° | M8*15 179.5 63 60 3 28 40 8 24 M8*20
DG-800-0 16 31 | $§408 0°/120°/240° M12*15 268 | 83 80 3 42 60 10 38 M10*30
DG-900-0 | 16 28 | $490 0°/120°/240° |M12*20 303.5 113 | 110 3 42 90 14 | 375 4.5 M10*30

I AN NN

22EZ7\ (Double Stage)

q
§V-3#120"—]

M

MODEL | A | A’

DG-230-0 | 284 305 272 | 45 205 230 | 288 128 106 - 83 | 108 71 136.5 40 | PF11/4"
DG-330-0 | 321 | 315 315 | 57.5 225 255 | 318 152 /152 - 95 130 67 152 | 45  PF11/2"
DG-430-0 364 | 396 377 | 60 260 296 | 382 175 144 | 27 | 115 155 96 | 172 | 48 PF 2"
DG-630-0 424 428 420  62.5 290 330 423 205 163 27 140 180 83 200 55 PF 2"
DG-830-0 486 | 372 550 | 77.5 365 425 | 565 275215 33 280|318 155 130 91  PF21/2"
| MODEL| Q| RIS| U J$VI _VHOLE | YZlablcldlelflglhlil jk
DG-230-0 64 | $10/25 90 $140 51.5°/171.5°/291.5° | M6*15 180 | 53 | 50 3 24 40 8 | 20 4 M8*20
DG-330-0 68 | $§12| 3 | 101 $174 60°/180°/300° M6*15 | 189 | 563 1 60 3 | 24 40 8 | 20 4 M8+20
DG-430-0 | 83 $14 4 | 115 $200 51.5°/171.5°/291.5° M8*15 248 63 60 3 | 28 | 40 8 24 4 M8*20
DG-630-0 | 83 | $15 4.5 119 $240 51.5°/171.5°/291.5° 'M8*15 2755 63 | 60 3 | 28 | 40 8 24 4 M8*20
DG-830-0 $128 16 |31 37 $408 51.5°/171.5°/291.5° |M12*15 3765 83 ' 80 3 42 60 10 | 38 4 M10*30

13 | Side Channel Blower




ZEDARGANG

FlE| (Parts Ilustration)

e Qe 00707
- 007-09
2

007-03L~ 007-08

L w705 A
e

o
< Q.

026

Ca

L= "{///)'

St EhEE EhEiE

PARTS NAME PARTS NAME PARTS NAME
001 EE Impeller 007-08 BC#REZE 5 Terminal box washer 015 | [REZ}F Washer
002 [EZ Compressor cover 007-09 BL#R=Z#F Terminal cover washer 016  FREF Ware washer
002-01 HIEZ Middle compressor cover | 007-10 EEAZREE S Capacitor washer 017 | ZEZEEE Cotton seal
003  [E#E Compressor housing 007-11 & 2§ Capacitor 018  HIEABEES Washer
003-01 FAE#E Middle compressor housing 007-12 &R Steel clip 020 IR Bronze ring
004  #% Rotor 008  fAIE Silencer housing 021  BUERBE Front bearing
005  BYEAEE Fan 008-01 MIEEF Silencer washer 021-01 &l Rear bearing
006 HE##A Silencer mesh pipe 009  FIEE Mounting plate 021-02 BI#AE Front bearing
006-02 HE/B#3 Silencer sponge 010 | FS¥EMZ Middle motor cover 023  BU#AEY Front oil seal
007  FS3E Motor 011 & Inlet/outlet 023-01 #£Y VA-seal
007-01 F5iE#Z Motor cover 011-01 F[EF Inlet/outlet washer 024  #&#1E] Rear oil seal
007-02 EIEAFZE Fan cover 012 9\ ER##E Protection steel skin 025 ﬁﬁg‘ﬁg Silencer
007-03 BC#R = Terminal box 012-01 7830 Buckle (up) 026  HAFIZ Outlet cover
007-04 EC#RifS Wire socket 012-02 &1 Buckle (down) 026-01 ¥JZ Cover
007-05 7 Wire connection slice 013  |# Rotor pin 027 &% Extend pipe
007-06 1R Fixed slice 014  EI#AEETEF Bearing washer 027-1 EE Extend pipe
007-07 EZ#REZ Terminal cover 014-01 EAACAYHIR Bearing washer 028 gi(:)oe ZE 90" extend

* FIBBIT A S R0 SR+ SRR (H20:DG-600-26+002)
*k Please notify model+parts item when you purchase.
* RNTRBRETEB 2R - RASBITEL]

*k We reserve the right to change the design without notice.

http://dargang.myweb.hinet.net | 14



N

sisle Channel Blo

< =
“id

o JELBEAC F 2 (A ccessories)

$2[ERF3 | Pressure Relief Valve — PF 1-1/4"

g ==t
= L A% 0
OfE/PF - ~ | .
(mm) Dimension = © |
& " ~ i
RV-01 11/4 142 0~3000mmAq § i
Rv-02| 11/4" 142  0~6000mmAq o 058 PF 1-1/4"

=ji&%E [Tee Pipe (mm)
B AR
Application
TP-01 DG-200,230,300,330%!(Series)
TP-02  DG-400,430,600,630,640%%!(Series)
PF 1 1/4% ‘
TP-02

MFEYiEiESS / MF Type Suction Filter

?‘G?E :E:E\EEJ:EF
Symbol | O | D | L | H | B ’—zf;ti(ng) S8 (kg)
PT |(mm)|(mm)|(mm)|(mm) mesh
58 42

MF-08 1" 170 155 100 0.20
MF-10 11/4" 71 186 170 54 100 0.35
MF-12 11/2" 85 196 182 65 100 0.49
MF-16 2" 103 215 | 202 75 100 0.65
MF-20 21/2" 148 | 274 252 97 100 1.20
MF-32 4" 208 380 357 @ 142 100 2.45

15 | Side Channel Blower




ZEDARGANG

£ JEUBRAL £F 2% (A ccessories)

5%

Symbol
SI-01 PF 11/4" 83 180
S1-02 PF 11/2" 98 180
SI-03 PF 2" 117 266
SI-04 PF21/2" 145 325
C
.

]
>
@

ZO/Threaded Flange[mm]

5 | A ‘
Symbol H E F . 1
gt
2-011 PF11/4" 7 22 64 79 6 ‘ } E
3-011 PF11/2" 7 24 68 86 6 ‘
6-011 PF 2" 7 18 83 100 7
8-011 PF21/2" 15 16 @128 144 7
9-011 PF 4" 8 22 150 170 9

PERRREENKFRE
Footprint dimensions for vertical/horizontal mounting[mm]
G

AUEE Type D H G L [
MFB2520 25 20 M6 12 7—*[
MFB3025 30 25 M8 15 ‘
MFB7540 75 40 M12 20 l
MFB7545 75 45 M12 37 }
BIEE / Remark : BRBHEMEM @ FBEAN T FIEIHEDELE %—

If you need other accessories, please contact us or distributors.

http://dargang.myweb.hinet.net | 16



Channrel Blower
“Zide C

YA UL (Unit Conversion Ta

7] | Pressure

0 0. 0 O. 0. 0. 760 0. 0
500 0.05 37 1.45 0.71 4.8 723 4.90 49
1000 0.1 74| 2.89 1.42 9.7 686  9.81 98
1500 0.15 110 4.34 213 14.5 650 14.71 147
2000 0.2 147 5.79 2.84 19.3 613 19.61 196
3000 0.3 221 8.68 4.26 29.0 539 29.42 294
5000 0.5 368 14.47 7.10 48.4 392 49.03 490
10000 1.0 735 28.95 14.20 96.7 25| 98.07 981
10336 | 1.0336 760 29.92 14.68 100.0 0 101.36 1014

mmH,O,mmW.g,mmW.C, mmW.S, kg/m’kp, kg. f/m* KP/m®

[E & / Air Flow B E / Air S

0. 0 o 0 0 0. 0.
0.005 5 018 305 1 36 394
0.01 10 035 610 2 72 787
0.02 20 071 1220 5 180 1969
0.05 50 177 3051 10 360  393.7
0.1 100 353 6102 20 720 787.4
0.2 200 7.06 12205 50  180.0 19685
0.5 500  17.65 30512 100 360.0 3937.0
1.0 1000 353 61024 200 7200 7874.0
2.0 2000 706 122047
5.0 5000 1765 305119
10.0 1000  353.0 610237
8571 | Electrical Power
1 0.001 | 0.0013
1000 1 1.341
7457 | 0.746 1

17

Side Channel Blower




ZEDARGANG

DG-600 3! Series DG-800 3! Series DG-900 %3 Series IR YI V-Belt series

Double stage &£ E =\

DG-230 F% Series DG-330 %% Series DG-430 F% Series DG-630 7R3l Series

DG-640 %3 Series DG-830 3! Series DG-840 3! Series IR V-Belt series

http://dargang.myweb.hinet.net | 18






